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1. &% ¥ #y K £ X (ordinary differential equation) y"(t) + a,y"(t) + a,y'(t) + a,y(t) = r(t) » =& A T A :
(a) #a,=-2-a,=-1-a,=2 B Lk A — & =k(homogeneous)s o £ X, » # K1 y(t) 84 i@ A (general solution)- [5%]
(b) 2 B A8 2 Ik # &k ODE T #1b 5 — 18 — % ¥ 4 % #2 4a(a system of first-order ODEs) » 5 Y'=AY+R &4 5 B &
(vector form) » 3 EHY - AR - [5%]
(c) &(b)> & U ~ VW & A ¢ 5% & (row vector) B3t = 18 &) & s 145 3 (linearly independent) » %3R3k ¥ a, > a &
a, 4% - [5%]
(d) #&(b) » #a,=a,=a,=1" #RK Aty F HE(eigenvalue) R £ 5o IT - [5%]
(e) &(d) » # A #hit4E m(inverse) i ¥ — B4 S 1555 E T - 35 K ob 454044 48 3B o 45 480& & (eigenvectors) - [5%]
() &) ZATHBAESHK e £ S B4 #H4&(symmetric)ss B - K & R #H#&(skew-symmetric)E /& » 35 K 1 S 89
iR B E S RK&MABEAENTK - [5%]

k2 M- #k[25%]
2. ®REBFFRAY"()+ay (t)+ay'(t)+ay(t)=r(t) > FEEURTRA :
(a) 2 £ 7T SR £ — @M A #kk(integral transform) f(w) = I f(t)e"dt » B4 y(o) & F(0) 2R REy(t) Rr(t) ik
R b V(o) F X - [5%]
(b) # % — B A MK F(s) = [~ e f(t)dt Tk &+ LY(S)RR(S) 51 B y(t) ~ r(t) o itk > 5% 1 Y(s) ey 2 X - [5%]

(c) &(b)r £ 2 th¥a,=1a =a,=0"r(t)=5(t-1) - 6 &% (Dirac delta function) - B 47454 £k (initial condition)
A y(0)=y'(0)=y"(0)=0 - FRH Y(s) - [5%]
(d) &(c) » #H KA y(t) - [10%]

1% 3 & 57 [20%)
3. E R g (series)k T RH » HEHELAT A !
" (a) HA A F oAk (power series method) K ##n % 4 P Ag(initial-value problem) : y"(x)-2xy'(x)+ y(x)=0 -
y(0)=0 - y'(0)=1 - [10%]
(b) g H»N — R 27 Y R B (X) RITTRAE L — AR ETI(X)=a, + ‘Z(a,, cosnx + b, sinnx) » k4§ b4k ok =

n=1

MM T SRR R g(x)=x-L » -L<x<L - [10%]

iy & 2 #7[25%]
4. H LT & F K48 B R
(@) & T A= % Fey— 1AM B A R 8% Kj(compact space) s & — 18 k £ % % (piecewise smooth)# B & &

S A& > HitE j [AdA » %+ i & S & §4u k& F(unit normal vector) - [10%]

(b) %khié&&(vectorfunctlon)F— [23 %% A& 2 B dh s (closed curve)C: X* +y* =1, z=1 HHt R F % %C
& o [5%]
(C) E4aii-curlV —v-curld =div(W) » 3t K (W-V)i - [5%]

(d) # 5 i & 35(vector field)d =[x, y,z] - B HLRBAEBEZ=1- X -y ST G258 [5%] [ L]
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